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Don't you think agriculture contributes more than 21% to national GDP .. 40% of labor force is employed in the  agricultural sector... Shifting for agro based economy to industrial economy is not practical solution.

 


Rather than reducing imports go for increasing exports and value added goods.
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Politics and legal system are two differ my domains 

How they will help to attain properity



CamScanner

https://v3.camscanner.com/user/download


CamScanner

https://v3.camscanner.com/user/download


CamScanner

https://v3.camscanner.com/user/download
Comments 
Arguments are vague 
Don't give one word statement 
Give practical solutions  and link it with main topic
Make ur hook attractive 
Make comprehensive outline
Grammatical errors






